12 11 10 9 8 7 6 5 4 3 2 1

Markierung auf Umfang
Marking on the circumference

Marquage sur la circonférence

Marcaci6n impresa en perimetro

// 10,2]A]

|
jbﬁ\
S —
S —
LF#:
24,9 4

=L Positionierung der Magnete =

Positioning of the magnets . M6 |
G Positionnement des aimants =
Posicionamiento de los imanes Polgrenze
' Between the two poles
Bracket 19* 3 - Limite polaire
\\\\\ | L imite de polo

19,4
(20)

U-H

/
-/

: {fro-——--——————— B o———¢ b
P i T
° | ®
N il . M
|
| ,, |
Bei Verwendung der Magnete missen
die beiden Gummipuffer entfernt werden
E Make sure to remove the two rubber | L0
buffers when using the magnets F
o >
en cas d'utilisation des aimants, assurez-vous Markierung auf Umfang Nbogé =
d'enlever les deux tampons en caoutchouc Marking on the circumference
/// Marquage sur la circonférence
Aseglrese de retirar los topes de goma cuando / Marcacién impresa en perimetro
utilice los imanes /
|
o ! |
— |
| N
5 205,3540,5 | 205,540,5 \
n |
Y |
//// b
T Magnete Polgrenze 7 ‘
Magnets Between the two poles = {’
Aimants Limite polaire o
| Limite de polo y . .
L L manes - Gerat ohne Verpackung und Beipack gezeichnet.
Diese Zeichnung enthdlt nur die wesentlichen EinbaumaBe.
Eingetragene Toleranzen sind fur die Abnahme bestimmt.
O |C . . .
Drawing without packing.
This drawing only includes the most essential mounting dimensions.
Indicated tolerances serve for acceptance.
Dessin du poste sans emballage.
Ce dessin ne présente que les cotes de montage principales,
Les tolérances indiquées sont destinées a |'acception.
Lieferumfang/ delivery/ livraison/ volumen cauino diby . .
quipo dibujado sin embala je.
. Este dibujo sdlo contiene las dimensiones de montaje esenciales.
Pos. |Bezeichnung Anzah| Bemerkung Tolerancias anotadas previstas para recepcién.
Name Quantity Remark
Désignotiqg Amos Remarque Gewicht:
B Denominacidn Cimulo Nota Weight:
O . Poids: 65(] Q
s 3 Magne t Schwarz gummiert ,
e 8 A : Peso:
28 = 1 iman t 7 Black rubberised <0 F
o) | Imdn Caoutchouc noir
2253 Engomado negro EE}Q}
2 5_8
52288 || Sechskantmutter SO 4034 M6 5 T
EEES 2 Ei?ggoﬂeggéonol A Projeki-Library: BPP_PS_7620310009-19701 [-Premium-F Lip-Down_Magnel.
2%’5%“ TUerCG hGXOgOﬂGI Measures without indication of tolerance acc. to Dl%?/\v?ng | D
E%é%’ 3 6 9 12 Replaces:
8258 Federring DIN 12776 F5t % AT8586 02 [30.01.13] Eg 2 g }é Replaced by:
%%E%E 3 gpr(ljn?| lock WOSTBF L, Ind.| Mod.Nr. [.)ate.: Name |Ind.|  Mod.Nr, Date | Name|Ind.[ Mod Nr, Date | Name [Ind.[ Mod Nr, Date | Name ’
8= -5} onae e-ressor ! ! Dwn. 27.05.09  SW Part name/Part title
w358 |A Arandela de resorte Valid for production Gud. 1t Magnet Set for 19* 20, 0mm
58 .5 Material: First S
5EL5% Schraube M6 Regelgewinde, Kopf nicht der Norm entsprechend fur Torx DIN EN IS0 10664 - e oL U PS/EHD: Dromina T 7ReT Seale
Soate Screw M6 regular type screw thread, head does not comply with the standard for Torx DIN EN IS0 10664 7 620 270 003 rowingTIr AR o
28:52 . Tornillo ’ Pas gros M6, téte non conforme pour Torx DIN EN SO 10664 BOSCH 7 620 270 003 EA | 121
85387 Vis Rosca gruesa M6, cabezal no corresponde o la norma para Torx DIN EN SO 10664 — No. of sheetsl] Sheet no. )
LEs=so eight: This includes: A1
52:8% 12 [ 11 | 10 | 9 | 8 | 7 6 5 4




